1)

®3)

(7)

@)

(3)

Q

B0 Fawm BB F1H Bk B#EEV b
Oz Z2nz & OZETCHAEEZT L &
M1 WROMEZRD L.
a® x a® 2 (a®°
Ans. Ans.
(3a3b?)3 4) (2a®)* x (ab?)?
Ans Ans.
a® =+ ab (6) a®b® -+ (a®b)?
Ans. Ans.
37 x3%+3° (8) (5%2%x3%)3 +55+37
Ans. Ans.
12 WOEZRD L.
6° 2 23
Ans. Ans.
71 4) 1072
Ans. Ans.
54 (6) 1000°
Ans. Ans.

[ 3
@)

(5)

(7)

1)

( )2( E K4

a#0, b#0 DL, ROXEMHEITE L.

a’ xa3 2)
Ans.

a

prs (4)
Ans.

(@™3)? (6)
Ans.

(a=2b)3 (8)
Ans.

4 WOXEZFHHRIZE XK.

V64 )
Ans

V125 (4)
Ans.

3|/ 1

_ 6

) ®

Ans.

Ans.

(@43

Ans.

(a’b™?)* x a=® x b®

Ans.

Vie

Ans.

Ans.

1)
243

Ans.




B FH4awE B BB B 1HE R EETY b ( )2( ) ( E K4
M5 WORHEEZR L. M6 WOHAEBHEIZHE XK.
(1) V5x V125 (2 V2xi32 1 1
(1) 362 @) 273
Ans. Ans. Ans. Ans.
V32 Vo4 3 1
3 4 - 3 2 4 _1
3) 72 (4) 7 ) g1z 4) 3275
Ans. Ans.
Ans. Ans. 2 3
®) 6473 6) 2572
6 (¥9)° ©® (V2)
Ans. Ans.
Ans Ans. n
5 M7 WORXZBBOW an IZE LIV, 72720, a hSWEHIZRD X HITH L.
7 2 8 35
O (V%) SNEE O ¥z @ (27
Ans. Ans. Ans. Ans
3 4 1 1
© | ® vz ® = TS
Ans. Ans. Ans. Ans.




B FH4awE B BB B 1HE R EETY b ( )2( EH R4
M8 WwoXEFHEE L.
) () 23+ 270 x 28 4 V7xV7x7
(1) 37x32 @ 2x27
Ans Ans. Ans. Ans.
8 3 3 . 6 .6 3
Ans Ans
2 1 6 4 1 AnS. AnS.
5) (2332 6) 53+53
® (2332) © 53+52 ") YTox 48 ®) Y20 x 50
Ans. Ans
7 277 = 27% (8) 6‘% .62 Ans. Ans.
9) 43 x 86 « 28 (10) ¥2x2+134
Ans. Ans.
19 WoXzEFHEE L.
(1) 33x37x34 @ sixs53-512 s e
(1) Y27 xV27 =33 (12) 27 x /81 + /243
Ans. Ans.

Ans.

Ans.




B H4awE REEERE R H1 RS BEETU b
10 ROV T T7aFHEZRIV.
(1) y=4 @) y=<%
N
3 y=5* ) yz(
N

( )2( ) ( E R4
11 ROEE /DS WIEIZIFE~ K.
(D) 23 271 23 272 @ 32 372, 1, 31
Ans. Ans.

2

JCRCR OO

Ans. Ans.
1
6) 3, ﬁ V3, V27 6) e, 216, 1, V36
Ans. Ans.

M 3,1, 31, V3 @ (.73 1, 07, (0.7)%

Ans. Ans.




B 4FE TR & ARk

Yavawd

B 1 Ep

g FEEBIL EET D b

( )2(

)

(

E KA

12 ko IFRERX « REXE T

1) 2*=38 2) 4*=32
Ans. Ans.
1 1\Y 1
3) 3r=— 4 <_) =—
@) 81 @ 25 5
Ans. Ans.
(5) 32+l =127 (6) s5x-1_ (L)zx
25
Ans. Ans.
(7) 8x — 42x+3 (8) 9X — 31—x
Ans. Ans.
9) 2*=16 (10) 9* > 27
Ans. Ans.

1
11 3)( < —
(11) >

Ans.

(13) 227% > 4%

Ans
1 x—1
(15) (_) < gx-3
27 =9
Ans.

13 RO AR .

(1) 22*+2x—6=0

Ans.

Ans.

1x 1x+1

w9 (5) 2(3)

v

Ans.

(16) (05)% > (v2)"

Ans.

2) 4-2%1-8=0

Ans.




